OLYMPIAD - 2019
Class 11

Important Instructions:

» All questions carry equal weightage.

10 minutes are provided for filling the OMR sheet and reading the instructions.

Exam duration is 1 hour only.

Please ensure that this question paper has 50 questions.

It is divided into the following 2 PARTS —

e Forclass 11 & 12 [PART A] - Commerce: Accountancy, Economics & Business
Studies
Humanities: Geography, History & Political Science
Science: Physics, Chemistry, Mathematics / Biology

e Forclass 11 & 12 [PART B] - For all Streams: English & Logical Reasoning

» Students have to attempt relevant PART ‘A’ (Questions 1 to 30).

PART ‘B’ (Questions 31 to 50) completely fill the stream section of the OMR sheet.

» Science students attempting Mathematics must fill the ‘Science with Maths’ bubble
whereas Biology (Medical) students must fill the ‘Science with Biology’ bubble in the
OMR sheet.

» Every question has one correct answer.

> Please carefully read the instructions for answering given on the OMR sheet. Candidates
must submit a completely filled OMR sheet before leaving the hall.

» There is no negative marking.
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PART — A (Only for Science Students)

Section A — Physics

1
a.
b.
c
d

. What is the importance of the elastic behavior of materials?

It enables a safe and sound design of bridges, buildings, machinery parts
It is useful in building slingshots

It gives methods for understanding materials

It is useful in making springs
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In a flow, the stream line is

a curve that shows all points of equal velocity.

a curve whose perpendicular at any point is in the direction of the fluid velocity at that point.
a curve that shows all points of equal pressure.

a curve whose tangent at any point is in the direction of the fluid velocity at that point.
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Referring to the picture, the shearing strain can be defined as
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Cosb
Sin0
The ratio of the relative displacement of the faces Ax to the length of the cylinder L.
Cotb

For a particle executing simple harmonic motion represented by x(t) = A cos(wt + ¢),
acceleration a(t) is given by



x(t) = A cos(wt + ¢)GRIGTTTERAGTH S I G dBR-aTUh B UG (O,
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a(t) = —2w?x(t)
a(t) = —2wx(t)
a(t) = —wx(t)
a(t) = —w?x(t)
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Compared to glass, copper expands
three times less

five times more

two times less

. stays the same
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The heliocentric theory proposed by Nicolas Copernicus was replaced by
parabolic orbits, to fit the data better
elliptical orbits, to fit the data better
elliptical orbits, to fit the new rules of Italy
circular orbits, to fit the data better
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7. Atomic and molecular phenomena are dealt with by
a. Quantum mechanics



b.
C.
d.

Fluid mechanics
Applied mechanics
Newtonian mechanics
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Derived unitsare .

units of a physical quantity that can be expressed as multiples of fundamental physical
quantities

units of a physical quantity that can be expressed as a combination of fundamental physical
quantities

units of a physical quantity that cannot be expressed as a combination of fundamental
physical quantities

units units of a physical quantity that cannot be expressed as multiples of fundamental
physical quantities
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a.
b.
c
d
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If the second law of motion is applied to a rigid body, then
the acceleration is that of any particle in the body

the acceleration is the average of all particles in the body
the acceleration is that of the centre of mass

none of the above
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10. What is the volume strain?

The ratio of change in volume to twice the original volume.
The change in volume.

The ratio of change in volume to thrice the original volume.
The ratio of change in volume to the original volume.
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Section B — Chemistry

1. Eka-aluminium and Eka-silicon are known as
a. Gallium and germanium
b. Aluminium and silicon
c. Iron and sulphur
d. Proton and silicon
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2. Inwhich of the following molecule/ion all the bonds are not equal?
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XeF4
BF4
CoHs
SiF4
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3. With regard to the gaseous state of matter which of the following statements are correct?
a. Complete order of molecules
b. Complete disorder of molecules
c. Fixed motion of molecules
d. Fixed position of molecules
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4. Covalency of carbon in CO molecule is three because
a. carbon is linked to highly electronegative oxygen atom
b. In the ground state, carbon has two unpaired electrons and in the excited state, it can
have three.
c. carbon acts as acceptor of electron pair in CO molecule
d. ininorganic compounds, carbon generally shows a valency of three.
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5. Enthalpy of sublimation of a substance is equal to
a. enthalpy of fusion + enthalpy of vaporisation
b. enthalpy of fusion
c. enthalpy of vaporisation
d. twice the enthalpy of vaporisation
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6. Ammonium carbonate when heated to 200°C gives a mixture of NHz and CO> vapours
with a density of 16.0. What is the degree of dissociation of ammonium carbonate?
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. What will be the correct order of vapour pressure of water, acetone and ether at 30°C?
(Given that among these compounds, water has maximum boiling point and ether has
minimum boiling point.)

a. Water < ether < acetone

b. Water < acetone < ether

c. Ether < acetone < water

d. Acetone < ether < water
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. A standard hydrogen electrode has zero electrode potential because
a. hydrogen is easiest to oxidize.

b. this electrode potential is assumed to be zero.

c. hydrogen atom has only one electron.

d. hydrogen is the lightest element.
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. The structure of an organic compound which on oxidation gives an acid that gives a
mono-substituted product on nitration with HNO3 and H2SOs, is
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10. Which one of the following statements regarding hydrogen peroxide is false?
a. Itis more stable in a basic solution.
b. Itis decomposed by MnOa.
c. ltisastrong oxidizing as well as reducing agent in acidic as well as in basic medium.
d. It behaves as a reducing agent towards acidified KMnOa.
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Section C — Maths (For Non-Medical students only)

11. What will be the value ofvVi + vV—i ?
Vi + V(BRI RT?
. V2
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12. Niharika got married 8 years ago. Her present age is g times her age at the time of her

marriage. Niharika’s brother was 10 years younger than her at the time of her marriage. The
present age of Niharika’s brother is

36 years

32 years

38 years

. 40 years

[BRICACANIE]
HeUEagsd [SHBIAAHASH S D S AHTS IS IS 1= b HHf BT IebT
YIS 10 ATB e IFRTRS T HIS P IadaHSTE

36 HIct
32 491
38 Ict
40 9icd
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13. Which of the following is a prime number?
AR . %?

1003

370261

73271

667

o0 o

14. Raj has 5 friends. In how many ways can he invite one or more of them to dinner?
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15. Today is Rita’s birthday. Two years from now she will be twice as old as she was 10 years
ago. How old is she now?

20 years

21 years

22 years

23 years
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a. 20491d
b. 2191
c. 22491d
d. 23497

16. In a triangle PQR, PS is the angle bisector of ZQPRand £QPS = 60°. What is the length of
PS?

THAPI PQR H, PS BIVQPRBIHIVITGHSTH B3N LQPS = 60°| PS BIITSHITE?

a. Jy?+ z?

b, 22

yz

vz

y+z
(y+2)?
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17. When an article is sold for X 703, loss incurred is 25% less than the profit earned on selling it
at ¥ 836. What is the selling price of the article when it earns a profit of 20%?

T I5a%2703 HaHISTle, ARIaTaeaT836 WReaTIRSAIaa e IqaH 25% HHg |
20% HTATH IR ABARATI B AH RIS ?

a. 31576

b. 21532
21092




d. %912

18. A large wheel of diameter 50 cm is attached to a smaller wheel of diameter 30 cm. How
many revolutions will the smaller wheel make when the larger one makes 15 revolutions?

N 50 YHIHTUHESURAT 30 THIAH B I U eIRIGSIg3MTE [SaaSafear 15

IFHIAATR, A ICURATgRIP a-adhIavTTSTd8?
a. 25
b. 18
c. 20
d. 30

19. If x = 0. 5is a rational number, then x equals

B S S ST

2
a =
9
5
b. =
9
3
c. -
9
4
d. -
9

20. A box contains 10 mangoes and 20 apples out of which 3 mangoes and 5 apples are
defective. If we choose two fruits at random, what is the probability that either both are
apples or both are non defective?

THETFH 10 AR 20 YIS, oA 3 AR 5
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316

435
136

345
17

87
158

435
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Section C — Biology (For medical students only)



21. Which one is correct regarding electrocardiogram (ECG)?

P-wave represents the electrical excitation of the ventricles.

QRS complex represents the repolarisation of the ventricles.

T-wave represents the repolarisation of the atria.

By counting the time between two QRS complexes one can determine the pulse rate.
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22. Read the given statements and select the correct option.

Statement 1: Chloroplasts and mitochondria are semi-autonomous bodies.

Statement 2: Chloroplasts and mitochondria have their own DNA and protein-synthesizing
machinery.

a. Both statements 1 and 2 are correct and statement 2 is the correct explanation of statement 1.

b. Both statements 1 and 2 are correct but statement 2 is not the correct explanation of statement
1.

c. Statement 1 is correct and statement 2 is incorrect.

d. Both statement 1 and 2 are incorrect.
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23. Select the incorrect option regarding the given figure.
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Q is a parietal lobe which registers sensory perceptions.

P is an occipital lobe which decodes and interprets visual information.
R is a temporal lobe which is associated with memory and emotion.

S is a cerebellum that controls muscular activities.
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24. Which one of the following is the correct pathway for the propagation of cardiac impulse?

a.
b.

C.
d.

SA node - AV node - Bundle of His - Purkinje fibres
AV node - Bundle of His - SA node - Purkinje fibres
SA node - Purkinje fibres - AV node - Bundle of His
Purkinje fibres - AV node - SA node - Bundle of His
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a.
b.
c
d

SATIE_AVAIE-_SSa3IThiRT-Ufh T thIgeR

AV dSA3hieu-SATS-_UfhTohIgeR
SA TE-_UfHToBIER - AV Ale_dSa3dhige

UfF TS aR-AVAIS-SATIS - SSa3iihigw

25. The given experimental set-up is used



a. to show that COs is required during photosynthesis
b. to show that O is evolved during photosynthesis

c. for nutrient solution culture

d. to measure the growth of a plant

|

26. Select the correct option with respect to mitosis.

a. Chromatids separate but remain in the centre of the cell in anaphase.

b. Chromatids start moving towards opposite poles in telophase.

c. Chromosomes move to the spindle equator and get aligned along with the equatorial plate in
the metaphase.

d. All of these
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27. Regarding circulatory adjustments during exercise which of the following is correct?

a. The cardiac output increases more than tenfold in severe exercise.

b. The increase in cardiac output during exercise is mainly due to an increase in stroke volume.
c. The increase in stroke volume seen in exercise occurs despite a smaller end-diastolic volume.
d. In severe exercise, the mean arterial pressure is unchanged because diastolic pressure falls.
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28. A man experiences a sudden withdrawal of the leg that got in contact with a pointed object.
Which of the following nervous pathways gives such a response?

a. Receptor - Efferent nerve fibre - Grey matter of spinal cord - Afferent nerve fibre - Effector

b. Receptor - Afferent nerve fibre - Grey matter of spinal cord - Efferent nerve fibre - Effector

c. Effector - Afferent nerve fibre - White matter of spinal cord - Efferent nerve fibre - Receptor

d. Receptor - Efferent nerve fibre - White matter of spinal cord - Afferent nerve fibre — Effector

T HTGHI IR IR aTIA B I3 HI TR S U o e aedeh U H 3T I fiaaade
EoIRIE AR RS RRREA I FRILSI R

AT T cAdhIE R SHRIHCI_HBIcTdhIZeR - Thdex

AT SMER AR hRER - edhigg IPRUGR.- ThdcdADIBRER - Thaex
ThacR-URCAahIReR-IeH g [P bheUarRl-Shacawbge - RAWR

AP ThcAdhIS R W AAd e ST GG THRIcTaphIear_Shde?

o0 o w

29. Thyroid-stimulating hormone (TSH), luteinizing hormone (LH), and oxytocin are all:
released from the pituitary gland

b. tropic hormones (act on other endocrine tissue)

c. steroid hormones

d. sex hormones

Qo
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30. Gas exchange in animals always involves
a. cellular respiration
b. breathing movements



C.
d.

active transport of gases
diffusion across membranes

REIRT e R PR | NIESEEIH]

a
b.
c
d
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Part — A (Only for Commerce Students)

Section A — Accountancy

Qo oy e

Choose the option which correctly explains fixed assets.
Expensive items bought for the business

Have a long life and are not purchased specifically for resale
Bought to be used in the business

Items which will not wear out quickly
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is any written evidence in support of a business transaction.

Ledger
Journal
Voucher
Ledger posting
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3. If you want to ensure that your money will be secured if cheques sent are wasted in the post,
you should,

Cross your cheques “Account Payee only, not negotiable”

Always pay by cash

Not use the postal service in future

. Always get the money in person
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will be credited if a company purchases building for cash.

Building account
Capital account
Fixed assets account
Cash account
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If debit balances = credit balances, trial balance only shows or checks the and it
does not indicate that no errors were made during recording and posting.

Omissions of economic events

Errors of commission

Arithmetic accuracy

Understatements of balances
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Which of the following is true about a trial balance?
It is a kind of financial statement

It lists down the balances of accounts

It lists down the balances of a balance sheet

It is not a part of accounting cycle

AR TR R R e 6 ?
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is the process of entering all transactions from the Journal to Ledger.
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Posting
Accounting

Entry

None of the above

_ SHaudoRaeaHiaeTesieRAe Uik aTg |

ufafy

SECICE]

LR

EEEREARRIE ]

Return on Investment Ratio (ROI) =
(Gross profithales) % 100

Fixed assets

(Gross profit) % 100

Net Sales

(Net profit) % 100

Sales
( Net profit
Total Investment
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)x100
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)x100
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The revenue recognition principle dictates that all types of incomes should be recorded or
recognized when

At the end of accounting period

When interest is paid

When they are earned

Cash is received
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d. THEUTIATS

10. The charges of placing commaodities into a saleable condition should be charged to:
a. P&Lal

b. Trading account

c. Balance sheet

d. None of the above
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Section B — Economics

Gross national product can be defined as

Total value of goods and services produced in the country.

Total value of all transaction in the country.

Depreciation in the total value of goods and services produced in the country.

Total value of goods and services produced in the country and net factor income from
abroad.

Fohal AP Jedre URHT foba o Febar 8
a. oX ¥ Ided a¥gsit 3R Jarsii &1 Hd Jed |

o0 oo




&3 H gt oS &1 oot g |

c. <X H IdAed a¥gsft 3R Tarsifl & $d od & Geag™ |
d. SR H IATed axgait 3R Jarsil &1 Ho Yoo SR faewl ¥ Y& RS 34|

oo o

o o T w

Q0o w

oo ow

Qoo s

e o T p

In India, which of the following is having highest share in the disbursement of credit
to agriculture and allied activities?

Cooperative Banks

Regional Rural Banks

Commercial Banks

Microfinance institutions

YRA H, P 3R o iaifafat & forg s & dfdavor o Fafefed & 3 fagat
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What do you mean by under conditions of perfect competition in the product market?
MRP=VMP

MRP>VMP

VMP>MRP

None of the above

IdTE SR H et ufargyf &1 2di & d8d SHTuh] T Adad g2

MRP=VMP

MRP>VMP

VMP>MRP

T A DS+t el

What do you mean by a mixed economy?
Modern and traditional industries

Public and private sectors

Foreign and domestic investments
Commercial and subsistence farming
foifSrg srfogarur @ smuest o Aty 82
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The horizontal demand curve parallel to x-axis implies that the elasticity of demand is
0

Infinite

Equalto 1

Greater than 0 but less than infinity

THRI-31&f & AR &St TN b BT HdAd ¢ [ AT B dd §
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The cost of one thing in terms of the alternative given up is called
real cost

production cost

physical cost

opportunity cost
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Which one of the following is a functional equation of demand?
Q-20+2P=0

Q-3-3P=0

Q+-2P=0

None of these

fFafafad 3§ @ o 91 7711 &1 srafds GHie 8?2
Q-20+2P=0

Q-3-3P=0

Q+-2P=0

3T A IS Tl

Gini Index of zero represents perfect
Equality

Inequality

Profit

Loss
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Who introduced indifference curves to explain consumer’s behaviour?
J.R. Hicks

Marshall

Robbins

Adam Smith
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The total effect of a price change of a commodity is
Substitution effect plus price effect
Substitution effect plus income effect
Substitution effect plus demonstration effect
Substitution effect minus income effect
T %] & U URad- b1 pa UM &
TIARITT YT W G T4
TITRITIT YHTT &Y 31T YHTd
UFRITI THTT W UGRH UHTd

UTARITIT YHTd A5 3T YHTG

Section C — Business Studies

21. Choose the option which cannot be classified as an objective of business.

a.

b.
C.
d

Productivity
Investment
Profit earning
Innovation



22. Who elects the board of directors of a joint-stock company?
a. Government bodies

b. Employees

c. Shareholders

d. General public

QDN O\

AgaAC (B DH I h - G H S ABTIATAH BTG ?

a. WRORIEIYH
b. HHAR
c. TWRURD

d. HH-SAdT

23. Partnership, Company, Sole proprietorship is the type of organizations in
Public

b. Private

c. Protected

d. Government

i

HIGRI, HUAT, THHENHG ATHATS A BTIDRE |

a. oAdl

b. Tl

c. Iferd

d. Wb

24. CWC stands for

Central Water Commission

b. Central Water Corporation

c. Central Warehousing Commission
d. Central Warehousing Corporation

o

CWC SIS
a. WW&I'I'@I'JT

o

b, HEITSTATH

sector.



c. PAAHSRUISAR

d. PargHERUHATH

25. A perspective buyer has to write a to know the details of goods from vendor.
a. Business Enquiry letter

b. Offer letter

c. Quotation letter

d. Complaint letter

IEEIREINEAICERUS G B NIME A S e rc A RC 2 SR e e R

a. odIURYeSdlssUA
b. TRAIGUA

c. SXUMUA

d. Rerdos

26. The capital of a company is divided into a number of parts each one is called
Profit

b. Dividend
c. Share

d. Interest

i
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27. Price is made in installments in which of the sales payment of purchase?
a. Auction sales

b. Hire purchase basis

c. Wash sales

d. Sales through tender

oAb b [y ITaH b A A e TATIdTg ?

a. ArarHifaw!

b. fHEARERIG3MYR
C

d
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28. Which of the following is not a cause of business risk?
a. Efficient management



b. Breakdown of machinery
c. Changing government policy
d. Riot

T MR IR P RUMR 6?

a. PUAYSYT

b. ERMRIBICEA

c. SaAdgsIRPRIAI

d. &m

29. Provision of residential accommodation to the members at reasonable rates is the objective of
a. Consumer’s co-operative

b. Producer’s co-operative

c. Credit co-operative

d. Housing co-operative

S RIARI R IR S TaI S T YA T3 X0

a. SUHIGIEHRI
b. FHfaTgsR™
c. discml-3afea
d. STAIIEHRI

30. Choose the tea brand from the options given below which does not belong to Unilever
Group.

a. Red Label

b. Lipton

c. Tetley

d. Brook bond

NV S G NP
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Part A (Only for Humanities Students)
Section A — Geography

1. Which of the following factors affect the temperature distribution of ocean water?



o0 o

Latitude

Unequal distribution of land and water
Prevailing wind

All of the above
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The continental drift theory put forward by Alfred Wegner advocated that all the countries
are formed of a single continental mass, called Pangaea. In support of his theory he gave a
variety of evidences. Which one of the following evidence does not support this concept?
Placer deposits

Distribution of fossils

Conventional current theory

. Jig-saw fit
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Stalactites and stalagmites are the depositional features related to which types of landforms?
Karst topography

Glaciers

Running water

Ocean currents
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4. If the surface air pressure is 1000 mb, the air pressure at 1 km above the surface will be

IREHIGHTAGETT1000 mbe, e 1 fhisRearseaT Gl

a. 700 mb

b. 600 mb

c. 1100 mb

d. 900 mb

5. Which of the following is incorrect?

a. A thunderstorm is well-grown cumulonimbus cloud.

b. Hails are formed when the clouds extend to heights where sub-zero temperature prevails.
c. When there is less or no moisture, a thunderstorm can generate dust storms.

d. Atornado is a vortex of rapidly moving air associated with some severe thunderstorms and

occurs in the equator only.
[BEINIECRE BEARUNGER,
. TS B IaRg U g -Teareds |
S a:

a
b. SEEICAGARAIdHEGINdG, S8 U-JAAIHREdlS, drgarda-dig |
c
d
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6. The terms foliations, lineation and banding are associated with which of the following rocks.
a. Igneous rocks

b. Sedimentary rocks

C

d

. Metamorphic rocks
. All of the above

. SWRpaH

. On the basis of genesis, color, composition and location, the soils of India have been
classified into different types. Consider the following statements about a particular soil type:
1. Itis found in the area of heavy rainfall and high humidity.

2. Soil has very rich humus and organic content.
3. Soil is normally heavy and black in color.
4. It occurs widely in the Northern part of Bihar, Southern part of Uttaranchal and the Coastal

a
b
c. SUidRadagH
d
;



areas of West Bengal, Odisha & Tamil Nadu.

Above statements are true for which of the following soil types:
Alluvial soil

Saline soil

Peaty soil

Black soil

NP S > R AR R
RITIR®:
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4. TRITERBITRIYFT, STRITAD GIAUTURTSR AT,

N SRMeiRAATg hac e A A EH = TR Ur—TSIdTg |
SRIFAH YA IRITH GBS [P UBRD e 6

HORDIUGT
CARIEE]

Which of the following influence the salinity of ocean waters?
Evaporation

Precipitation

Freshwater from rivers

Bothaand b
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Which among the following is untrue about the air masses?
They have horizontal variations in temperature.
b. When two different air masses meet the boundary zone between them is called a front.

tad



o

Air masses are produced on continents only.
They change every 2-3 km as the weather changes.
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10. Sandstone, conglomerate, limestone and shale are examples of which types of
rocks?
a. Mechanically formed sedimentary rocks
b. Non-foliated metamorphic rocks
c. Chemically formed sedimentary rocks
d. Foliated metamorphic rocks

TSI, TG, TAIR ARG AYH RSB IS b IGTEIR ?

a. FAafdHdaascagH

b. TR-YaHemithemaeH

c. INRFGETARHdsEudkeH
d. YHaHeHheaeH

Section B — History
11. How do we differentiate between Australopithecus and Homo?
a. On the basis of brain size, jaws and teeth
b. On the basis of brain size, hand and legs
c.  On the basis of jaws, hands and teeth
d. On the basis of teeth, legs and brain size

TR AN B HRE e b AR BRAR?

a. ARTHHINDR, TaSARGIdIDMNYRUR
b. HKTHBHIMHR, TTYSNRUIBIHTURT

c. TS, TUIMRSIID YR
d. il A IRARTSh & TR RBSMYRUR

12. Where were the earliest fossils of Homo erectus found?




a. Tanzania

b. Africa

c. Asia

d. Both (b) and (c)

BB LS 3ol ATRHAB B ITITE?

a. e

b. SMBIDI

c. QRmm

d. aHi(b) 3MR(C)

13. Who made a visible contribution to the development of Arab-Islamic identity by building the
Dome of the Rock in Jerusalem?

a. Abd al-Malik

b. Quraysh

c. Prophet Muhammad

d. Harun al-Rashid

SR gAHH S A ERID B HUTh D 3R d-

SR & (b I g @yURINTG FiedT?

a. 3feG3fd-AlIH

b. HISI

c. WieRHg™TE

d. BTeSa-Re

14. Who were the descendants of Abbas?
a. Arabs

b. Abbasids

c. lranian Muslims

d. Fatimids

I SSIE T RINEIR R,

3RT
37T

ENRILGNEIE]

BAIGIE

15. When was Jerusalem conquered by the Arabs?
TR AHD ISR H TSI I TATYT?

a. 652

o0 T o®




b. 637
c. 639
d. 638

16. Choose the correct pair.

Year

1325-1350
1400-1425
1475-1500
1682-1725

ﬂ%ﬁﬁh@%ﬁl
¥

1325-1350
1400-1425
1475-1500
1682-1725

oo oo
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Event
Establishment of the Vijayanagara empire
Emergence of regional sultanates
Copernicus propounds theory about the solar system
Peter the Great attempts to modernise Russia

e
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7. The rapid colonization of Africa by the European powers after 1880 was motivated primarily

The demand for slaves to cultivate New World cotton and sugar

The desire for new markets, raw materials, and strategic advantage

a
b. The heavy demand for African workers in European factories
C
d

. The need to tap the hydroelectric potential of the African rivers

A SO NN A
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TUESR], PAHTARRIUM b ATHP IS 3T
I CA R EUIE IR B FE NI ERICAMRRE RS CAC IS EIE I

18. In which European country feudalism process was first started?

a. England
b. France
c. ltaly

d. Russia

RO RN THAdE S U ATIg AR D TR A T?

a. 3TCS
b. Wd



c. gcal

d =9

19. What was the responsibility of the knights in 19" century?
a. To protect the piece of land called fief

b. To protect the people living in nearby areas

c. To cultivate the land as peasants when required

d. None of the above

19 diRTaTeG HYRARID TG RIaait?

[ N N

a. HHPIHSHRATPIABITI I RBBTSACIE

b&nﬂum%amﬁwﬁm&n

C. 31Id-2qc*>dlq$'1l-lild°%il'1ld>‘{°ql-l

d. TABRHET

20. Which poem written by Langland contrasted the ease and luxury of the lives of monks?
Canterbury Tales

b. Piers Plowman

c. Triumphs

d. Amorosa vision

i
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Section C — Political Science

o0 T ®

21. The constituent assembly of India was established under which plan?
Wavvel Plan

Crips Mission

August offer

Cabinet mission plan

HR D I AT R HTD RITIT G ToHTh dg dh s dt?
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22. Match the following.

(a) Fundamental rights

(i) Irish Constitution

(b) DPSP

(if) Canadian Constitution

(c) Quasi Federal structure

(iii) French Constitution

(d) Principle of liberty, equality, fraternity

(iv) US Constitution

IBEINIECRERIE NI
(a) fem3fIBR (i) SmaferEfae
(b) DPSP (i) PTSIHAUT
(c) SRR (iii) Wi faeT
(d) T, THHT, SYIPIRIGId (iv) 3R Efau™

oo o

(@)-(ii), (b)-(1), (c)-(iv), (d)-(iii)
(@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(@)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

23. Which of the following statements regarding the constituent assembly of India is incorrect?

a.

The seats distributed among the three main communities, Muslims, Sikhs, and generals in
each Province.

b. Twenty-six members from what was then known as the Scheduled Classes.

d.

284 out of 299 members were actually present on 26 November 1949 and appended their
signature to the Constitution as finally passed.
There was no participation of women in it.

YRAD AT I HTB TRA A TRIH D [ THIh YRTeld g ?

oo o p

. AeeHeYfdai b TR SIHISTarT, STHdo s ey |

26 TR 1949 PT 299 HY 284 T RARATHANIG A RI G AU H SATE TR BT |
BRI R CA LA R AR 1

24. India adopted the provision of fundamental right from which of the following constitution?

a.

British constitution
Irish constitution
US constitution
French constitution

HRAAFUfaar iU ee e Re UG T™T?




b. SARTERIYU™
c. SERPBIHNIAYUHE
d. idrgfaem™

25. Which fundamental right was considered as heart and soul of Indian constitution by Dr. B. R.
Ambedkar?

a. Right to freedom

b. Right to equality

c. Right to freedom of religion

d. Right to constitutional remedies

STl 3R S HRAfH I i PR HR A AU TR e a3 ITHTHTUT?

a. WAAAIRIATHR

b. FHHATHRISHAGR

c. YHPRAGTATHIIBR
d. HaUTPITIRBIH TSR

26. Which of these provisions come under the Directive Principles of State Policy?
i.  Raising the standard of living
i.  Promotion of international peace
iii.  To follow the ideals of the freedom struggle
iv.  Promotion of cottage industries

A AT YT RISTA b -6 Qb I Td b ST [ 3TdTe 2

i, SITTRRBISRISHI
i.  SfRIPIfdbIagare
. . N ~
i,  WAFAEITHB TR BTUTATDH T
iv. PCRIUNNDITGATGH]

a. 1, 1i,and iii only

b. ii, iii, and iv only
c. i, ii,and ivonly

d. i, ii, iii,and iv

27. Which of the following is common to the method of election of the members of RajyaSabha
and LokSabha?

Every voter has equal rights.

Every citizen above the age of 18 is an eligible voter.

A voter can give preference orders for different candidates.

The winner must get more than half the votes.

oo o



TSI HT SR ATB T HTH G b AT T R RITH S F STHg ?
a. ERUACTATD T YSRGS |
b. 18 a@&malgwluﬂdﬁl‘IIQdJKdOQI‘ql-ICIdl(‘IIE; |

c. ThHdeMIaiIHIgaRIG U IgdishAcIHds |
d. fasammenddsifieare =l

28. Which country's parliament is known as 'Knesset'?
a. China

b. lIsrael

c. Japan

d. South Korea

i N - ¥ nN

PO RIP TG H DA HATHISHSTAIR?

a

b. {URIgd
c. SIU

d. Glarreiiear

29. Who was the first chief election commissioner of India?
T N Seshan

b. SukumarSen

c. NasimZaidi

d. VS Sampat

i

HRAG U TG ATIFAD Y ?

a. CITARINA
b. Wm?ﬁ
C.
d. aﬂmqa
30. Consider the following statements about the Indian governance system.
I.  Prime minister is the head of the government while president is the head of the nation
ii.  Prime minister distributes the departments between the ministers
iii.  Prime minister appoints the governor of the states
Which of these are correct?

I. UﬂHHﬂIHQd’Nd’IHﬁ@IGIdIS\SidIODQIgqldilgdﬂ&lﬁ@lwdlg

i, guHEAHEE e aHTTRIddRUIhde




i, MRS RSaUTe® Y faadm e
STHAD GI6?

. (i) and (i)

b. (i) and (i)

(i) and (iii)

. (i), (ii) and (iii)

o})
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Part — B (Common for all Stream Students)

Section D — English

31. Which would be the synonym for the word Pallid?
a. Worthless
b. Pale
. Friendly
d. Comforting
32. Find the antonym for the word Intangible.
a. Concrete
. Insubstantial
c. Abstract
d. Ethereal
33. Find the correctly spelt word.
a. Trankquility
b. Trankwility
c. Tranquility
d. Trankwillity
34. Which part of the sentence has an error?
She enquired from the stranger (A)/ who was he and (B)/ what he wanted from her. (C)/ No
Error (D)
A
B
C
D
35. Amit his father in the morning every day.
calls up
b. callsin
. calls down
d. calls off
36. The scheme allows students from different countries to communicate

oo o

o



with each others

each other

themselves

. with one another

37. Which of the options correctly expresses the meaning of the phrase?

Once in a blue moon

a. Common

b. Very rarely

c. Ordinary

d. Predictable

38. Which of the options would make the underlined statement correct?

I’m staying with some friends who are owning a farm.

a. have been owning

b. will be owning

C. own

d. No improvement

39. Choose the correct words for the missing blanks.

| cannot to see any animal suffering. The giant pulled the roof off the house with his
hands.

bare, bear

bear, bare

bare, bare

bear, bear

0. We should go for regular health checkups to make sure any problem is quickly

discover

prepared

discovered

responded

oo opw
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Section E: Logical Reasoning

41. A particular relationship is given and another similar relationship has to be identified from
the alternatives provided.
Reluctant :Keen :: Remarkable : ?

a. Usual

b. Restrained
c. Striking
d. Evocative

TH AR IR 3R TS g e Y Hih U dh i aug g |

=g P TP - fagad:?
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42. A particular relationship is given and another similar relationship has to be identified from
the alternatives provided.

Darwin : Evolution : : Archimedes : ?

a. Friction

b. Lubrication

c. Buoyancy

d. Liquids

o0 T o®

TH AR SINTATE 3R U I e e h U dh d i aug e |
ST ﬁm::&ﬁ%&l@ﬁ:?

a. cd[d
b. Hgd

c. 39Id
d

. RaAugrd
43. Choose the set of numbers similar to the given set.
Given set: (8, 3, 2)

e R B RICTH |
fearmarie: (8, 3, 2)

a. (10,6,5)
b. (63,8, 3)

c. (95,24,5)

d. (168,15, 4)

44. ACFJ is related to ZXUQ in the same way as EGJN is related to ?

ACFJ I8 ZXUQ J&Idgwd EGIN Jfedg?

a. DBYU
b. VTQM
c. VIRP
d. VUSQ
45. Choose the odd one out.
a. Poland



b. Greece
c. ltaly
d. Korea

Y -
a. OIS

b. gIH
C. EEFﬁ
d. IR

46. Choose the odd pair of words.
a. China: Beijing

b. Russia: Moscow

c. Japan : Singapore

d. Spain : Madrid

BEAC IR ESIRIERT
. difSiT
T: ARD]
g RITgR

. WO Afgs

47. Which is the number that comes next in the sequence: 0, 6, 24, 60, 120, 210, ?

IR HHSMISAATA RIRATD T]: 0, 6, 24, 60, 120, 210, ?

240

290

336

504

48. If in a certain language MYSTIFY is coded as NZTUJGZ, how is NEMESIS coded in that
language?

IRfEIAYTUEH MYSTIFY & NZTUIGZ F=UdPIfedibarsdig, df NEMESIS

HIYUNH S AR S BTTSITdTR?

MDLHRDR
OFNFTIT

ODNHTDR
PGOKUGU

o o o o
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49. In a certain code, ADVENTURES is written as TDRESAUVEN. How is SURPRISING
written in that code?

THMYdhIed, ADVENTURES &I TDRESAUVEN $HeUHCrATRITE [SThIeH

SURPRISING Haferamidig?

a. IUIPGSSRNR
b. IUIPGSRSNR
c. IUINGSSRRP
d. IRIPGSSNRR

50. If MACHINE is coded as 19-7-9-14-15-20-11, how will you code DANGER?

Ife MACHINE Y 19-7-9-14-15-20-11 h&THB ISl aTSdle, dI3Td DANGER

HlHIBISIRIN?

10-7-20-13-11-24
11-7-20-16-11-24
13-7-20-9-11-25
13-7-20-10-11-25

o0 o



